
 
 

    Q.1) Fill in the blanks:- 
 

1) 1 Rupee= ______________ paise. 
 
2) __________ 25 paise coins make 1 Rupee. 
 
3) We separate paise from rupees by putting a __________ between them. 
 
4) ____________p= ½ of Re 1. 
 
5) P stands for ___________ and Re stands for ______________________. 
 

     Q.2)  Convert:- 
 

1) Rs. 3.25 into paise. 
 

2) Rs.60.07  into paise. 
 
3) Rs.0.07  into paise. 
 
4) 487 paise into Rs. 
 
5) 4456 paise into Rs. 
 

     Q3. )Add:- 
 

1) Rs. 275.56, Rs. 398.43, Rs236.39.               2)   Rs. 564.00,Rs. 110.48, Rs. 277.68. 
 

    Q4.) Subtract:- 
 

1)   Rs. 890.54- Rs. 354.87                    2)   Rs. 483.18- Rs. 299.36 
 

    Q.5) A pen costs Rs. 41.50. Find the cost of 6 pens. 
 
    Q.6)A lady bought a  saree and a sweater for Rs.  3489.50. If the sweater costs Rs.  743.75, what is  
            the cost of the saree?   

 
   Q.7) The price of a colouring book was Rs. 83.50 a month ago. Now it is Rs. 97.80. How much is the  
           increase in price? 
 
   Q.8) A man bought a belt for Rs. 102.25, a shirrt for Rs. 248.90 and a set of handkerchief for   
         Rs. 59.60. He gave the shopkeeper Rs. 500 note. How much money would the shopkeeper return? 
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